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PART A — (10 x 2=20 malks)

o What is (hffelence between gaugmg and measulements‘?
-';"W'ute Shoﬂ: notes on Bevel P10t1 actm i
Wnte short notes on mtelchangeabﬂlty T : " , s L

]On what factm the accuracy of lasel mtelfewmetel mamly depends? :

Defme mate1 1aI ratio” w1th 1efelence to SULfEICG ﬁmsh measmement
3 _How is 10undness measur ed in the Least squales cncle method‘? S

= What are load cells'? -

J,\Ientzon the punclple mvolved in blmetfilhc st1 ip.

PART B (5 x 13 =65 malks)

. (a)i Clasmfy standaul methods of measurements in detaﬂ o (13)

Orr

(b - What are the vauous posmble sources of error in measurements '? Explam

in detaﬂ "o S : o ' (13)_



12,

(a) Discuss about various types of Limit Gauges.
Or _
{b) Explain the construction and working of a Microptic autocollinator with a
neat sketch.
13. (@ (1 With a neat diagram explain the working of AC laser
interferometer.. . (8)
(it) - List the advantages of AC laser inferferometer. ‘ (5)
Or
() @  With neat sketch briefly explam the different types of CMM based
on its constructlon o S (1)
S (11) Llst out tho advantages of CMM - ) _ ‘ S (®) _
14, (a) - .“flth a neat dlagram explam how gear tooth thickness is measuled usmg
SRERE RS 1 gea1 tooth vernier cahpe1 : :
: . _f;Orf . .
(b) . 'Denve the explessmn for tooth thlckness of a gear in the constant chord
R method : ' : - '
"""" 15, (a) .Wlth neat chaglams explam the wmkmg pnnolple of Lotametel and pitot
' . jtube :
- : Or |
. (b) . _Wlth a neat dlaglam explam the working of | blmetalhc stnp and
IR theunocouple S L :
7 PART C — (1 X 1 =15 marks)
16. (a) - Calculate the to_lerances,- fundamental deviations and limits of sizes for
. the shaft designated as 40 H8/ {f7. Standard tolerance for IT 7 is 161 and
IT 8 is 25 i. Where ‘i’ is the standard tolerance unit. Upper deviation for
‘f shaft is — 5.6 D%, 40 mm lies in the diameter range 30 = 50'mm.
(b) ~ Design general type GO and NO GO gauges for a 40H7/ d8 fit. 40 mm lies

in the diameter range 30 to 50. Show graphically the disposition of gauge

‘tolerance zZones relative to the work tolerance zones. Standard tolerance

for IT7 is 161 and I'T8 is 251, where 9’ is the standard tolerance unit. The

upper deviation for ‘@ shaft is - 16 Dot
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